| Efficiency vs Dxy |
>0.01,
x N N N N N N N N N

o : 5 5 : : 5 5 : 5
@009t T o T S o

L T e e e
o S T T T
O e S A 0 S A
© Foo : : : 5 : : : :
OO e A S S
R e s e

0004l o

0005
C !

0002
QOO

OJ-'\-Q IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII

Rat

O s e T s

098 56-15-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__CMSSW_100ti
| Efficiency vs Dz | —e— DQM_V0001_R000000001__Global__CMSSW_100timeHPTT

0.05 —«— DQM_V0001_R000000001__Global __CMSSW._100timePLa
0. s : : :

QOUS[ it
e

5 : : : : :
POA
O C : N § : : :
GEO35F g A AR A
© F : : : : :
0,03
e s o 1 et s S
0.02f el b
T

0,08+
0,008 f-rrrvr

o+
=

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


